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[ 1 - skl A MRS ]

(Z7H72 L)

(1.8) M1JPN =f[ GDP, PM1LC, AUPNPX1/JPNPC1) ]

(1.8) M1JPN =f[ GDP, PM1LC, Alog(JPNPX1/JPNPC1) ]

(1.8) M1JPN =f[ GDP, log(PM1LC), AUPNPX1/JPNPC1) ]
(1.8) M1JPN =f[ GDP, log(PM1LC), Alog(JPNPX1/JPNPC1) ]
(1.5) AM1KOR) =f[ AGGDP), Alog(PM1LC), A(KORPX1/KORPC1) ]
(1.1) M1TWN =f[ GDP, A(PM1LC), ATWNPX1/TWNPC1) ]
(1.1) M1ITWN =f[ GDP, A®PM1LC), Alog(TWNPX1/TWNPC1) ]
(1.1) M1ITWN =f[ GDP, Alog(PM1LC), ATWNPX1/TWNPC1) ]
(2.4) M1USA =f[ GDP, PM1LC, USAPX1/USAPC1 ]

(2.4) M1USA =f[ GDP, PM1LC, log(USAPX1/USAPC1) |
(2.4) M1USA =f[ GDP, log(PM1LC), USAPX1/USAPC1 ]
(2.4) M1USA =f[ GDP, log(PM1LC), 1og(USAPX1/USAPC1) |
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(Z7HEbY)

(1.0) M1JPN =f[ GDP, PM1LC, Alog(JPNPX1/JPNPC1), M1JPN(-1) ]

(1.0) M1JPN =f[ GDP, log(PM1LC), AJPNPX1/JPNPC1), M1JPN(-1) ]

(1.0) M1JPN =f[ GDP, log(PM1LC), Alog(JPNPX1/JPNPC1), M1JPN(-1) ]

(1.6) logMM1KOR) =f[ log(GDP), PM1LC, AAKORPX1/KORPC1), log(M1KOR(-1)) ]

(0.3) log(M1TWN) =f[ log(GDP), PM1LC, TWNPX1(-1)/TWNPC1(-1), logMM1TWN(-1)) ]

(0.3) 1ogM1TWN) =f[ log(GDP), PM1LC, log(TWNPX1(-1)/TWNPC1(-1)), logMM1TWN(-1)) ]

(0.3) logM1TWN) =f[ log(GDP), APM1LC(-1)), TWNPX1(-1)/TWNPC1(-1), logM1TWN(-1)) ]

(0.3) 1ogMM1TWN) =f[ log(GDP), A(PM1LC(-1)), log(TWNPX1(-1)/TWNPC1(-1)),
logM1TWN(-1)) ]

(0.3) log(M1TWN) =f[ log(GDP), Alog(PM1LC(-1)), TWNPX1(-1)/TWNPC1(-1), logM1TWN(-1)) ]

(0.3) 1ogMM1TWN) =f[ log(GDP), Alog(PM1LC(-1)), log(TWNPX1(-1)/TWNPC1(-1)),
log(M1TWN(-1)) ]

(0.5) M1USA =f[ GDP, Alog(PM1LC), USAPX1/USAPC1, M1USA(-1) ]

(0.5) M1USA =f[ GDP, Alog(PM1LC), log(USAPX1/USAPC1), M1USA(-1) ]

[ 1 - FRScHE A 4% ]

(Z 77 L)
(1.7) M1JPN =f[ GDP, Alog(PM1LC(-1)/PGDP(-1)), Alog(JPNPX1/JPNPC1) |
(1.7) log(MM1KOR) =f[ log(GDP), PM1LC/PGDP, AORPX1/KORPC1) ]
(1.7) AM1KOR) =f[ A(GDP), Alog(PM1LC/PGDP), AKORPX1/KORPC1) ]
(3.0) MITWN =f[ GDP, PM1LC/PGDP, TWNPX1/TWNPC1 |
(3.0) MITWN =f[ GDP, log(PM1LC/PGDP), TWNPX1/TWNPC1 ]
(3.0) MITWN =f[ GDP, log(PM1LC/PGDP), log(TWNPX1/TWNPC1) ]
(2.0) M1USA =f[ GDP, Alog(PM1LC/PGDP), USAPX1/USAPC1 ]
(2.0) M1USA =f[ GDP, Alog(PM1LC/PGDP), log(USAPX1/USAPC1) ]

(Z7HHY)

(1.2) M1JPN =f[ GDP, Alog(PM1LC(-1)/PGDP(-1)), Alog(JPNPX1/JPNPC1), M1JPN(-1) ]
(2.2) M1KOR =f[ GDP, log(PM1LC/PGDP), AORPX1/KORPC1), M1KOR(-1) ]

(2.2) M1KOR =f[ GDP, log(PM1LC/PGDP), Alog(KORPX1/KORPC1), M1KOR(-1) ]

(0.7) logM1TWN) =f[ log(GDP), PM1LC/PGDP, TWNPX1/TWNPC1, log@M1TWN(-1)) ]
(0.7) logM1TWN) =f[ log(GDP), PM1LC/PGDP, log(TWNPX1/TWNPC1), logM1TWN(-1)) ]
(1.1) M1USA =f[ GDP, A(PM1LC/PGDP), USAPX1/USAPC1, M1USA(-1) ]

(1.1) M1USA =f[ GDP, A(PM1LC/PGDP), log(USAPX1/USAPC1), M1USA(-1) ]

(1.1) M1USA =f[ GDP, A(PM1LC/PGDP), ACUSAPX1/USAPC1), M1USA(-1) ]

(1.1) M1USA =f[ GDP, A(PM1LC/PGDP), Alog(USAPX1/USAPC1), M1USA(-1) |

(B4 3 - s A i ]

(7 7R L)
(1.1) 1logM3JPN) =f[ log(GDP), PM3LC, AUPNPX3/JPNPC3) |
(1.1) 1logM3JPN) =f[ 1og(GDP), PM3LC, Alog(JPNPX3/JPNPC3) ]
(1.1) log(M3JPN) =f[ 1og(GDP), log(PM3LC), A(JPNPX3/JPNPC3) |
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(1.1) 1ogM3JPN) =f[ log(GDP), log(PM3LC), Alog(JPNPX3/JPNPC3) |

(0.3) M3KOR =f[ GDP, PM3LC(-1), Alog(KORPX3(-1)/KORPC3(-1)) ]

(0.3) M3KOR =f[ GDP, log(PM3LC(-1)), Alog(KORPX3(-1)/KORPC3(-1)) |

(0.3) M3BKOR =f[ GDP, A(PM3LC(-1)), Alog(KORPX3(-1)/KORPC3(-1)) ]

(0.3) M3BKOR =f[ GDP, Alog(PM3LC(-1)), Alog(KORPX3(-1)/KORPC3(-1)) |

(0.3) log(M3KOR) =f[ log(GDP), A(PM3LC), KORPX3/KORPC3 |

(1.1) log(M3TWN) =f[ log(GDP), PM3LC, TWNPX3/TWNPC3 ]

(1.1) 1og(MM3TWN) =f[ log(GDP), PM3LC, TWNPX3(-1)/TWNPC3(-1) ]

(1.2) Alog(M3USA) =f[ Alog(GDP), Alog(PM3LC), A(USAPX3(-1)/USAPC3(-1)) |
(1.2) Alog(M3USA) =f[ Alog(GDP), Alog(PM3LC), Alog(USAPX3(-1)/USAPC3(-1)) ]

(Z7H®HY)

(0.5) log(M3JPN) =f[ 1log(GDP), log(PM3LC), A(JPNPX3/JPNPC3), log(M3JPN(-1)) ]

(0.5) log(M3JPN) =f[ log(GDP), log(PM3LC), Alog(JPNPX3/JPNPC3), log(M3JPN(-1)) ]

(1.5) log(M3KOR) =f[ 1og(GDP), PM3LC, KORPX3(-1/KORPC3(-1), logM3KOR(-1)) ]

(0.9) Alog(M3TWN) =f[ Alog(GDP), A(PMSLC), TWNPX3/TWNPC3, AlogM3TWN(-1)) |

(0.9) Alog(MM3TWN) =f[ Alog(GDP), ACPM3LC), TWNPX3(-1)/TWNPC3(-1), Alog(M3STWN(-1)) ]

(0.9) Alog(M3TWN) =f[ Alog(GDP), ACPMS3LC), log(TWNPX3/TWNPC3), Alog(M3TWN(-1)) |

(0.9) AlogMM3TWN) =f[ Alog(GDP), ACPM3LC), log(TWNPX3(-1)/TWNPC3(-1)),
Alog(M3TWN(-1)) ]

(0.9) Alog(M3TWN) =f[ Alog(GDP), Alog(PM3LC), TWNPX3/TWNPC3, Alog(M3TWN(-1)) ]

(0.6) M3USA =f[ GDP, A(PM3LC), log(USAPX3(-1)/USAPC3(-1)), M3USA(-1) ]

[543 « AHscHfis AR ]
(Z 7w L)
(1.0) 1og(M3JPN) =f[ log(GDP), log(PM3LC/PGDP), AJPNPX3/JPNPC3) |
(1.0) logM3JPN) =f[ log(GDP), log(PM3LC/PGDP), Alog(JPNPX3/JPNPC3) ]
(1.7) logMM3KOR) =f[ log(GDP), PM3LC/PGDP, KORPX3/KORPC3 |
(1.5) 1og(MM3TWN) =f[ log(GDP), log(PM3LC/PGDP), TWNPX3/TWNPC3 |
(1.5) log(M3TWN) =f[ log(GDP), log(PM3LC/PGDP), TWNPX3(-1)/TWNPC3(-1) ]
(1.0) log(M3USA) =f[ log(GDP), PM3LC/PGDP, USAPX3/USAPC3 |
(1.0) logM3USA) =f[ log(GDP), PM3LC/PGDP, log(USAPX3/USAPC3) ]
(1.0) Alog(M3USA) =f[ Alog(GDP), A(PM3LC/PGDP), AC(USAPX3(-1)/USAPC3(-1)) ]
(1.0) Alog(M3USA) =f[ Alog(GDP), A(PM3LC/PGDP), Alog(USAPX3(-1)/USAPC3(-1)) ]

(Z7HHY)

(0.6) log(M3JPN) =f[ log(GDP), PM3LC/PGDP, AJPNPX3/JPNPC3), log(M3JPN(-1)) ]

(0.6) log(M3JPN) =f[ log(GDP), PM3LC/PGDP, Alog(JPNPX3/JPNPC3), log(MM3JPN(-1)) ]

(1.5) log(MM3KOR) =f[ log(GDP), PM3LC/PGDP, KORPX3(-1)/KORPC3(-1), log(M3KOR(-1)) ]

(1.5) log(M3KOR) =f[ log(GDP), PM3LC/PGDP, log(KORPX3(-1)/KORPC3(-1)),
log(M3KOR(-1)) ]

(1.5) log(M3KOR) =f[ log(GDP), ACPM3LC/PGDP), KORPX3(-1)/KORPC3(-1), log(M3KOR(-1)) ]

(0.6) Alog(M3TWN) =f[ Alog(GDP), Alog(PM3LC/PGDP), TWNPX3/TWNPC3,
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Alog(MM3TWN(-1)) |

(0.6) Alog(M3TWN) =f[ Alog(GDP), Alog(PM3LC/PGDP), TWNPX3(-1)/TWNPC3(-1),
Alog(M3TWN(-1)) |

(0.3) M3USA =f[ GDP, Alog(PM3LC/PGDP), log(USAPX3(-1)/USAPC3(-1)), M3USA(-1) ]

(ff2R 5 — 2) W ARSE (fBefd) THA

[FA 1 - ffschili AR ]

(7 7 L)
(0.8) Alog(M1CHN) =f[ Alog(GDP), log(PM1LC), CHNPX1(-1)/CHNPC1(-1) ]
(0.8) Alog(M1CHN) =f[ Alog(GDP), log(PM1LC), log(CHNPX1(-1)/CHNPC1(-1)) ]
(2.1) Alog(MM1KOR) =f[ Alog(GDP), Alog(PM1LC), KORPX1(-1)/KORPC1(-1) ]
(2.1) Alog(MM1TWN) =f[ Alog(GDP), Alog(PM1LC), log(TWNPX1(-1)/TWNPC1(-1)) ]
(1.9) log(M1USA) =f[ 1og(GDP), log(PM1LC), USAPX1/USAPC1 ]

(Z7HEHDHY)
(0.7) log(MM1CHN) =f[ log(GDP), log(PM1LC), A(CCHNPX1(-1)/CHNPC1(-1)), log(M1CHN(-1)) ]
(0.7) logMM1CHN) =f[ log(GDP), log(PM1LC), Alog(CHNPX1(-1)/CHNPC1(-1)),
logMM1CHN(-1)) ]
(1.8) Alog(M1KOR) =f[ Alog(GDP), Alog(PM1LC), KORPX1(-1)/KORPC1(-1), AlogM1KOR(-1)) ]
(1.3) Alog(MM1TWN) =f[ Alog(GDP), Alog(PM1LC), ATWNPX1(-1)/TWNPC1(-1)),
AlogM1TWN(-1)) |
(0.9) M1USA =f[ GDP, Alog(PM1LC), USAPX1/USAPC1, M1USA(1) ]
(0.9) M1USA =f[ GDP, Alog(PM1LC), log(USAPX1/USAPC1), M1USA(-1) |

(4 1+ FHST AT ]

(Z7mi L)
(0.5) Alog(M1CHN) =f[ Alog(GDP), log(PM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1) ]
(0.5) Alog(M1CHN) =f[ Alog(GDP), log(PM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)) ]
(0.5) Alog(M1CHN) =f[ Alog(GDP), Alog(PM1LC/PGDP), A(CHNPX1(-1)/CHNPC1(-1)) |
(0.5) Alog(M1CHN) =f[ Alog(GDP), Alog(PM1LC/PGDP), Alog(CHNPX1(-1)/CHNPC1(-1)) ]
(2.4) Alog(M1KOR) =f[ Alog(GDP), Alog(PM1LC/PGDP), KORPX1(-1)/KORPC1(-1) ]
(1.7) AlogMM1TWN) =f[ Alog(GDP), Alog(PM1LC/PGDP), log(TWNPX1(-1)/TWNPC1(-1)) ]
(1.0) logM1USA) =f[ log(GDP), Alog(PM1LC/PGDP), USAPX1/USAPC1 ]
(1.0) log(M1USA) =f[ 1og(GDP), Alog(PM1LC/PGDP), log(USAPX1/USAPC1) ]

(Z7HEHHY)
(0.3) 1og(MM1CHN) =f[ log(GDP), A(PM1LC(-1)/PGDP(-1)), CHNPX1(-1)/CHNPC1(-1),
logMM1CHN(-1)) ]
(0.3) log(M1CHN) =f[ log(GDP), A(PM1LC(-1)/PGDP(-1)), A(CHNPX1(-1)/CHNPC1(-1)),
logMM1CHN(-1)) ]
(0.3) 1og(MM1CHN) =f[ log(GDP), Alog(PM1LC(-1)/PGDP(-1)), CHNPX1(-1)/CHNPC1(-1),
logMM1CHN(-1)) ]
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(0.3) 1og(M1CHN) =f[ log(GDP), Alog(PM1LC(-1)/PGDP(-1)), A(CHNPX1(-1)/CHNPC1(-1)),
log(MM1CHN(-1)) |

(1.7) Alog(M1KOR) =f[ Alog(GDP), Alog(PM1LC/PGDP), KORPX1(-1)/KORPC1(-1),
Alog(M1KOR(-1)) ]

(1.7) Alog(M1KOR) =f[ Alog(GDP), Alog(PM1LC/PGDP), log(KORPX1(-1)/KORPC1(-1)),
Alog(M1KOR(-1)) ]

(1.1) Alog(M1TWN) =f[ Alog(GDP), Alog(PM1LC/PGDP), ATWNPX1(-1)/TWNPC1(-1)),
AlogM1TWN(-1)) |

(1.0) M1USA =f[ GDP, Alog(PM1LC/PGDP), USAPX1/USAPC1, M1USA(-1) ]

(1.0) M1USA =f[ GDP, Alog(PM1LC/PGDP), log(USAPX1/USAPC1), M1USA(-1) ]

[ 3 - Haskri AffiFs ]

(Z 7 L)
(2.0) AMM3CHN) =f[ A(GDP), log(PM3LC), CHNPX3(-1)/CHNPC3(-1) |
(2.0) AM3CHN) =f[ A(GDP), log(PM3LC), log(CHNPX3(-1)/CHNPC3(-1)) ]
(1.4) AMS3KOR) =f[ A(GDP), PM3LC(-1), KORPX3(-1)/KORPC3(-1) ]
(1.4) AMB3KOR) =f[ A(GDP), log(PM3LC), KORPX3(-1)/KORPC3(-1) ]
(1.4) AMB3KOR) =f[ A(GDP), log(PM3LC(-1)), KORPX3(-1)/KORPC3(-1) ]
(8.7) AlogMM3TWN) =f[ Alog(GDP), A(PM3LC(-1)), Alog(TWNPX3(-1)/TWNPC3(-1)) ]
(1.2) AMM3USA) =f[ A(GDP), PM3LC(-1), USAPX3/USAPC3 ]

(1.2) AMM3USA) =f[ A(GDP), PM3LC(-1), log(USAPX3/USAPC3) |

(1.2) AM3USA) =f[ A(GDP), log(PM3LC(-1)), USAPX3/USAPC3 |

(1.2) AMM3USA) =f[ AGDP), log(PM3LC(-1)), log(USAPX3/USAPC3) |

(Z7HEHDHY)

(1.9) AMM3CHN) =f[ A(GGDP), PM3LC, CHNPX3(-1)/CHNPC3(-1), AAMM3CHN(-1)) ]

(1.9) AMB3CHN) =f[ A(GGDP), PM3LC, log(CHNPX3(-1)/CHNPC3(-1)), AMM3CHN(-1)) ]

(1.9) AOM3CHN) =f[ A(GDP), log(PM3LC), CHNPX3(-1)/CHNPC3(-1), AMM3CHN(-1)) ]

(1.9) AMMBCHN) =f[ A(GDP), log(PM3LC), log(CHNPX3(-1)/CHNPC3(-1)), AMM3CHN(-1)) ]

(1.2) 1og(M3KOR) =f[ log(GDP), A(PM3LC(-1)), Alog(KORPX3(-1)/KORPC3(-1)),
log(M3KOR(-1)) |

(1.8) Alog(M3TWN) =f[ Alog(GDP), A(PM3LC), Alog(TWNPX3(-1)/TWNPC3(-1)),
Alog(M3TWN(-1)) ]

(1.2) AMM3USA) =f[ A(GDP), Alog(PM3LC), USAPX3/USAPC3, AM3USA(-1)) ]

(1.2) AM3USA) =f[ A(GDP), Alog(PM3LC), log(USAPX3/USAPC3), AMM3USA(-1)) |

(4 3 - Rt Afli#E ]
(Z 7R L)
(1.8) M3CHN =f[ GDP, A(PM3LC/PGDP), CHNPX3/CHNPC3 ]
(1.8) M3CHN =f[ GDP, A(PM3LC/PGDP), log(CHNPX3/CHNPCS3) ]
(1.8) AMMB3CHN) =f[ A(GDP), PM3LC/PGDP, CHNPX3(-1)/CHNPC3(-1) ]
(1.8) AMMB3CHN) =f[ A(GDP), PM3LC/PGDP, log(CHNPX3(-1)/CHNPC3(-1)) ]
(1.8) AMM3CHN) =f[ A(GDP), log(PM3LC/PGDP), log(CHNPX3(-1)/CHNPC3(-1)) ]
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(1.4) AMB3KOR) =f[ A(GDP), log(PM3LC/PGDP), KORPX3(-1)/KORPC3(-1) ]

(1.4) AMS3KOR) =f[ A(GDP), log(PM3LC(-1)/PGDP(-1)), KORPX3(-1)/KORPC3(-1) ]

(1.4) Alog(M3KOR) =f[ Alog(GDP), A(PMS3LC(-1)/PGDP(-1)), KORPX3(-1)/KORPC3(-1) ]
(1.4) Alog(M3KOR) =f[ Alog(GDP), A(PM3LC(-1)/PGDP(-1)), log(KORPX3(-1)/KORPC3(-1)) ]
(3.2) Alog(M3TWN) =f[ Alog(GDP), APM3LC/PGDP), Alog(TWNPX3(-1)/TWNPC3(-1)) ]
(1.6) Alog(M3USA) =f[ Alog(GDP), Alog(PM3LC/PGDP), USAPX3(-1)/USAPC3(-1) ]

(Z7HEBHY )

(2.5) AMM3CHN) =f[ A(GDP), PM3LC/PGDP, CHNPX3(-1)/CHNPC3(-1), AAMM3CHN(-1)) ]

(2.5) AMM3CHN) =f[ A(GDP), PM3LC/PGDP, log(CHNPX3(-1)/CHNPC3(-1)), AMM3CHN(-1)) ]

(1.4) 1og(M3KOR) =f[ log(GDP), A(PM3LC(-1)/PGDP(-1)), log(KORPX3(-1)/KORPC3(-1)),
log(M3KOR(-1)) ]

(1.5) logMM3TWN) =f[ 1og(GDP), Alog(PM3LC(-1)/PGDP(-1)), Alog(TWNPX3(-1)/TWNPC3(-1)),
log(M3TWN(-1)) |

(1.4) Alog(M3USA) =f[ Alog(GDP), Alog(PM3LC/PGDP), USAPX3/USAPC3, Alog(M3USA(-1)) ]

(1.4) AlogM3USA) =f[ Alog(GDP), Alog(PM3LC/PGDP), log(USAPX3/USAPC3),
Alog(M3USA(-1)) ]

(fff22 5 — 3) ®ABIEC (fEsf) MwE)

(5 1 - Heschim Ak ]

(Z7H72 L)

(2.4) 1og(MM1CHN) =f[ log(GDP), A(PM1LC), CHNPX1(-1)/CHNPC1(-1) ]
(1.8) AM1JPN) =f[ AGDP), A(PPM1LC), JPNPX1/JPNPC1 |

(1.8) AM1JPN) =f[ AGDP), Alog(PM1LC), JPNPX1/JPNPC1 ]

(1.8) AM1JPN) =f[ AGGDP), Alog(PM1LC), log(JPNPX1/JPNPC1) |

(1.1) AM1TWN) =f[ A(GDP), Alog(PM1LC), log(TWNPX1(-1)/TWNPC1(-1)) ]
(2.5) log(M1USA) =f[ log(GDP), PM1LC, USAPX1(-1)/USAPC1(-1) ]

(Z7HEHDHY)

(1.7) log(MM1CHN) =f[ 1og(GDP), Alog(PM1LC), CHNPX1(-1)/CHNPC1(-1), log(M1CHN(-1)) ]
(1.6) M1JPN =f[ GDP, A(PM1LC), JPNPX1/JPNPC1, M1JPN(-1) |

(1.6) M1JPN =f[ GDP, Alog(PM1LC), JPNPX1/JPNPC1, M1JPN(-1) ]

(1.6) M1JPN =f[ GDP, Alog(PM1LC), log(JPNPX1/JPNPC1), M1JPN(-1) ]

(1.9) log(M1TWN) =f[ log(GDP), PM1LC, TWNPX1(-1)/TWNPC1(-1), log(MM1TWN(-1)) ]
(1.3) M1USA =f[ GDP, PM1LC, USAPX1/USAPC1, M1USA(-1) ]

(1.3) M1USA =f[ GDP, PM1LC, log(USAPX1/USAPC1), M1USA(-1) ]

(B4 1 - FRSH AR ]

(Z7mi L)
(2.0) M1CHN =f[ GDP, log(PM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1) ]
(2.0) logMM1CHN) =f[ log(GDP), APM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1) ]
(2.0) logMM1CHN) =f[ log(GDP), APM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)) ]
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(2.0) 1og(MM1CHN) =f[ log(GDP), Alog(PM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1) ]
(2.0) 1og(MM1CHN) =f[ log(GDP), Alog(PM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)) ]
(1.7 AM1JPN) =f[ A(GDP), Alog(PM1LC/PGDP), AJPNPX1/JPNPC1) ]

(2.0) logMM1TWN) =f[ log(GDP), PM1LC/PGDP, log(TWNPX1(-1)/TWNPC1(-1)) |

(1.7) logM1USA) =f[ 1og(GDP), Alog(PM1LC/PGDP), USAPX1/USAPC1 ]

(1.7) 1logM1USA) =f[ 1og(GDP), Alog(PM1LC/PGDP), log(USAPX1/USAPC1) ]

(Z7HHY)

(1.5) log(M1CHN) =f[ log(GDP), A(PM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1), log(M1CHN(-1)) ]

(1.5) log(M1CHN) =f[ 1log(GDP), A(PM1LC/PGDP), A(CCHNPX1(-1)/CHNPC1(-1)),
log(M1CHN(-1)) ]

(1.5) logMM1CHN) =f[ log(GDP), APM1LC/PGDP), Alog(CHNPX1(-1)/CHNPC1(-1)),

log(M1CHN(-1)) ]

(1.5) 1og(MM1CHN) =f[ log(GDP), Alog(PM1LC/PGDP), A(CHNPX1(-1)/CHNPC1(-1)),
log(M1CHN(-1)) ]

(1.5) 1og(MM1CHN) =f[ log(GDP), Alog(PM1LC/PGDP), Alog(CHNPX1(-1)/CHNPC1(-1)),
log(M1CHN(-1)) ]

(1.5) M1JPN =f[ GDP, Alog(PM1LC/PGDP), JPNPX1/JPNPC1, M1JPN(-1) ]

(1.5) M1JPN =f[ GDP, Alog(PM1LC/PGDP), AJPNPX1/JPNPC1), M1JPN(-1) ]

(2.5) 1ogMM1TWN) =f[ log(GDP), PM1LC/PGDP, log(TWNPX1(-1)/TWNPC1(-1)),
log(M1TWN(-1)) ]

(1.1) M1USA =f[ GDP, Alog(PM1LC/PGDP), USAPX1/USAPC1, M1USA(-1) ]

(1.1) M1USA =f[ GDP, Alog(PM1LC/PGDP), log(USAPX1/USAPC1), M1USA(-1) ]

(1.1) AM1USA) =f[ A(GDP), Alog(PM1LC/PGDP), USAPX1/USAPC1, AMM1USA(-1)) ]

(1.1) AM1USA) =f[ A(GDP), Alog(PM1LC/PGDP), log(USAPX1/USAPC1), AAM1USA(-1)) ]

(1.1) AM1USA) =f[ A(GDP), Alog(PM1LC/PGDP), AC(USAPX1/USAPC1), AMM1USA(-1)) |

(1.1) AM1USA) =f[ AGDP), Alog(PM1LC/PGDP), Alog(USAPX1/USAPC1), AM1USA(-1)) |

[F4 3« fascim Affiks ]
(7 772 L)
(1.6) M3CHN =f[ GDP, log(PM3LC(-1)), CHNPX3/CHNPC3 ]
(1.6) M3CHN =f[ GDP, log(PM3LC(-1)), log(CHNPX3/CHNPC3) ]
(1.2) 1og(M3JPN) =f[ log(GDP), PM3LC, JPNPX3/JPNPC3 |
(1.2) log(M3JPN) =f[ 1og(GDP), A(PM3LC), JPNPX3/JPNPC3 ]
(1.7) logMM3TWN) =f[ 1og(GDP), Alog(PM3LC), TWNPX3/TWNPC3 ]
(3.0) Alog(M3USA) =f[ Alog(GDP), A(PM3LC), log(USAPX3(-1)/USAPC3(-1)) ]

(Z7HEHY)

(1.9) M3CHN =f[ GDP, PM3LC(-1), CHNPX3(-1)/CHNPC3(-1), M3CHN(-1) ]

(1.9) M3CHN =f[ GDP, PM3LC(-1), log(CHNPX3(-1)/CHNPC3(-1)), M3CHN(-1) ]

(1.9) M3CHN =f[ GDP, log(PM3LC(-1)), CHNPX3(-1)/CHNPC3(-1), M3CHN(-1) ]

(1.9) M3CHN =f[ GDP, log(PM3LC(-1)), log(CHNPX3(-1)/CHNPC3(-1)), M3CHN(-1) ]
(0.6) 1og(M3JPN) =f[ log(GDP), PM3LC, log(JPNPX3(-1)/JPNPC3(-1)), log(M3JPN(-1)) |

281



(1.0) M3TWN =f[ GDP, PM3LC, log(TWNPX3(-1)/TWNPC3(-1)), MSTWN(-1) ]

(1.0) M3TWN =f[ GDP, A(CPM3LC), log(TWNPX3(-1)/TWNPC3(-1)), MSTWN(-1) ]

(1.0) M3TWN =f[ GDP, Alog(PM3LC), log(TWNPX3(-1)/TWNPC3(-1)), MSTWN(-1) ]

(1.0) log(MM3TWN) =f[ log(GDP), log(PM3LC), TWNPX3(-1)/TWNPC3(-1), log(M3TWN(-1)) ]
(0.9) M3USA =f[ GDP, log(PM3LC), Alog(USAPX3/USAPC3), M3USA(-1) ]

CERREPSE TN
(7 7R L)
(1.5) M3CHN =f[ GDP, PM3LC(-1)/PGDP(-1), CHNPX3(-1)/CHNPC3(-1) ]
(1.5) M3CHN =f[ GDP, PM3LC(-1)/PGDP(-1), log(CHNPX3(-1)/CHNPC3(-1)) ]
(1.5) M3CHN =f[ GDP, log(PM3LC(-1)/PGDP(-1)), CHNPX3(-1)/CHNPC3(-1) ]
(1.5) M3CHN =f[ GDP, log(PM3LC(-1)/PGDP(-1)), log(CHNPX3(-1)/CHNPC3(-1)) ]
(1.1) log(M3JPN) =f[ 1og(GDP), PM3LC(-1)/PGDP(-1), AUPNPX3/JPNPC3) ]
(1.6) M3TWN =f[ GDP, Alog(PM3LC/PGDP), log(TWNPX3/TWNPC3) ]
(1.6) 1og(MM3TWN) =f[ log(GDP), Alog(PM3LC(-1)/PGDP(-1)), TWNPX3/TWNPC3 ]
(2.8) Alog(M3USA) =f[ Alog(GDP), Alog(PM3LC/PGDP), log(USAPX3(-1)/USAPC3(-1)) ]

(Z7HEHY)

(1.3) M3CHN =f[ GDP, PM3LC/PGDP, CHNPX3(-1)/CHNPC3(-1), M3CHN(-1) ]

(1.3) M3CHN =f[ GDP, PM3LC/PGDP, log(CHNPX3(-1)/CHNPC3(-1)), MSCHN(-1) ]

(1.3) M3CHN =f[ GDP, log(PM3LC/PGDP), CHNPX3(-1)/CHNPC3(-1), M3CHN(-1) ]

(1.3) M3CHN =f[ GDP, log(PM3LC/PGDP), log(CHNPX3(-1)/CHNPC3(-1)), M3CHN(-1) ]

(0.3) log(M3JPN) =f[ log(GDP), PM3LC(-1)/PGDP(-1), Alog(JPNPX3(-1)/JPNPC3(-1)),
log(M3JPN(-1)) |

(0.3) log(M3JPN) =f[ 1og(GDP), Alog(PM3LC/PGDP), log(JPNPX3(-1)/JPNPC3(-1)),
log(M3JPN(-1)) ]

(1.4) logMM3TWN) =f[ log(GDP), A(PM3LC(-1)/PGDP(-1)), log(TWNPX3(-1)/TWNPC3(-1)),
log(M3TWN(-1)) ]

(1.2) M3USA =f[ GDP, log(PM3LC/PGDP), USAPX3/USAPC3, M3USA(-1) ]

(1.2) M3USA =f[ GDP, log(PM3LC/PGDP), log(USAPX3/USAPC3), M3USA(-1) ]

(22 5 —4) AR (M) B

[ 1 - skt A ]

(Z 772 1L)

(0.9) AAMM1CHN) =f[ A(GDP), Alog(PM1LC(-1)), CHNPX1/CHNPC1 ]

(0.9) AMM1CHN) =f[ A(GDP), Alog(PM1LC(-1)), log(CHNPX1/CHNPC1) |
(0.9) Alog(M1CHN) =f[ Alog(GDP), A(PM1LC(-1)), CHNPX1/CHNPC1 ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), A(PM1LC(-1)), log(CHNPX1/CHNPC1) ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), Alog(PM1LC(-1)), CHNPX1/CHNPC1 ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), Alog(PM1LC(-1)), log(CHNPX1/CHNPC1) |
(1.5) AMM1JPN) =f[ AGDP), Alog(PM1LC(-1)), JPNPX1/JPNPC1 ]

(1.5) AMM1JPN) =f[ AGDP), Alog(PM1LC(-1)), logJPNPX1/JPNPC1) ]
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(0.9) AAMM1KOR) =f[ A(GDP), log(PM1LC), KORPX1/KORPC1 ]

(0.9) AMM1KOR) =f[ A(GDP), log(PM1LC), 1og(KORPX1/KORPC1) ]

(0.4) Alog(M1USA) =f[ Alog(GDP), Alog(PM1LC), A(USAPX1/USAPC1) ]
(0.4) Alog(M1USA) =f[ Alog(GDP), Alog(PM1LC), Alog(USAPX1/USAPC1) ]

(Z7HEHBHY)

(0.7) M1CHN =f[ GDP, PM1LC(-1), CHNPX1/CHNPC1, M1CHN(-1) ]

(0.7 M1CHN =f[ GDP, PM1LC(-1), log(CHNPX1/CHNPC1), M1CHN(-1) ]

(0.7 M1CHN =f[ GDP, log(PM1LC(-1)), CHNPX1/CHNPC1, M1CHN(-1) |

(0.7 M1CHN =f[ GDP, log(PM1LC(-1)), log(CHNPX1/CHNPC1), M1CHN(-1) ]
(1.9) M1JPN =f[ GDP, PM1LC, JPNPX1/JPNPC1, M1JPN(-1) ]

(1.9) M1JPN =f[ GDP, PM1LC, log(JPNPX1/JPNPC1), M1JPN(-1) ]

(1.3) AMM1KOR) =f[ AGDP), A(PM1LC), AAKORPX1/KORPC1), AM1KOR(-1)) ]
(1.3) AAM1KOR) =f[ A(GDP), A(PM1LC), Alog(KORPX1/KORPC1), AMM1KOR(-1)) ]

283



[ 1 - FH sl A AL ]

(7 7R L)

(0.9) AMM1CHN) =f[ A(GDP), Alog(PM1LC(-1)/PGDP(-1)), CHNPX1/CHNPC1 ]

(0.9) AAMM1CHN) =f[ A(GDP), Alog(PM1LC(-1)/PGDP(-1)), log(CHNPX1/CHNPC1) ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), A(PM1LC(-1)/PGDP(-1)), CHNPX1/CHNPC1 ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), A(PM1LC(-1)/PGDP(-1)), log(CHNPX1/CHNPC1) ]
(0.9) Alog(M1CHN) =f[ Alog(GDP), Alog(PM1LC(-1)/PGDP(-1)), log(CHNPX1/CHNPC1) ]
(1.5) AM1JPN) =f[ A(GDP), A(PM1LC(-1)/PGDP(-1)), JPNPX1/JPNPC1 ]

(1.5) AM1JPN) =f[ A(GDP), APM1LC(-1)/PGDP(-1)), log(JPNPX1/JPNPC1) ]

(0.9) AAMM1KOR) =f[ A(GDP), PM1LC/PGDP, KORPX1/KORPC1 ]

(0.9) AAMM1KOR) =f[ A(GDP), PM1LC/PGDP, log(KORPX1/KORPC1) ]

(0.9) AMM1KOR) =f[ A(GDP), log(PM1LC/PGDP), KORPX1/KORPC1 ]

(0.9) AM1KOR) =f[ A(GDP), log(PM1LC/PGDP), log(KORPX1/KORPC1) ]

(0.9) Alog(M1KOR) =f[ Alog(GDP), PM1LC/PGDP, KORPX1/KORPC1 ]

(0.9) AlogMM1KOR) =f[ Alog(GDP), PM1LC/PGDP, log(KORPX1/KORPC1) ]

(0.9) Alog(M1KOR) =f[ Alog(GDP), log(PM1LC/PGDP), 1og(KORPX1/KORPC1) ]

(0.4) Alog(M1USA) =f[ Alog(GDP), Alog(PM1LC/PGDP), Alog(USAPX1/USAPC1) |

(Z7HH )

(0.8) M1CHN =f[ GDP, log(PM1LC(-1)/PGDP(-1)), CHNPX1/CHNPC1, M1CHN(-1) ]

(0.8) M1CHN =f[ GDP, log(PM1LC(-1)/PGDP(-1)), log(CHNPX1/CHNPC1), M1CHN(-1) ]
(1.8) M1JPN =f[ GDP, PM1LC/PGDP, JPNPX1/JPNPC1, M1JPN(-1) ]

(1.2) AM1KOR) =f[ A(GDP), A(PM1LC/PGDP), AAKORPX1/KORPC1), AM1KOR(-1)) ]
(1.2) AMM1KOR) =f[ A(GDP), A(PM1LC/PGDP), Alog(KORPX1/KORPC1), AM1KOR(-1)) ]

(B4 3 - Haskrim Al ]
(7 7R L)
(0.9) log(M3CHN) =f[ log(GDP), Alog(PM3LC), A(CHNPX3/CHNPCS3) ]
(0.9) log(M3CHN) =f[ log(GDP), Alog(PM3LC), Alog(CHNPX3/CHNPC3) ]
(1.5) logM3JPN) =f[ log(GDP), APM3LC(-1)), AUPNPX3/JPNPC3) ]
(1.5) 1og(M3JPN) =f[ log(GDP), A(PM3LC(-1)), Alog(JPNPX3/JPNPC3) ]
(2.0) 1og(M3KOR) =f[ log(GDP), log(PM3LC(-1)), log(KORPX3(-1)/KORPC3(-1)) ]
(1.5) 1log(M3USA) =f[ log(GDP), PM3LC(-1), USAPX3(-1)/USAPC3(-1) ]

(Z 7B D)

(0.6) logM3CHN) =f[ log(GDP), APM3LC(-1)), ACHNPX3/CHNPC3), log(M3CHN(-1)) ]

(0.6) log(M3CHN) =f[ log(GDP), A(PM3LC(-1)), Alog(CHNPX3/CHNPC3), log(M3CHN(-1)) ]
(0.6) log(MM3CHN) =f[ log(GDP), Alog(PM3LC(-1)), ACCHNPX3/CHNPC3), log(MM3CHN(-1)) |
(0.6) logM3CHN) =f[ log(GDP), Alog(PM3LC(-1)), Alog(CHNPX3/CHNPC3), log(M3CHN(-1)) ]
(0.6) AMB3CHN) =f[ AGGDP), ACPM3LC(-1)), Alog(CHNPX3/CHNPC3), AM3CHN(-1)) ]

(1.8) M3KOR =f[ GDP, log(PM3LC(-1)), log(KORPX3(-1)/KORPC3(-1)), M3KOR(-1) ]

(0.6) M3USA =f[ GDP, log(PM3LC), log(USAPX3(-1)/USAPC3(-1)), M3USA(-1) ]

284



(5 3 - FH i A4S ]

(7 7R L)
(1.0) log(M3CHN) =f[ 1og(GDP), Alog(PM3LC/PGDP), ACCHNPX3/CHNPC3) ]
(1.0) log(M3CHN) =f[ 1og(GDP), Alog(PM3LC/PGDP), Alog(CHNPX3/CHNPC3) ]
(1.4) M3JPN =f[ GDP, A(PM3LC(-1)/PGDP(-1)), Alog(JPNPX3/JPNPC3) ]
(1.4) 1ogM3JPN) =f[ log(GDP), A(CPM3LC(-1)/PGDP(-1)), AUPNPX3/JPNPC3) ]
(1.4) 1og(M3JPN) =f[ log(GDP), A(PM3LC(-1)/PGDP(-1)), Alog(JPNPX3/JPNPC3) |
(1.8) log(M3KOR) =f[ log(GDP), PM3LC(-1)/PGDP(-1), log(KORPX3(-1)/KORPC3(-1)) ]
(1.8) 1og(M3KOR) =f[ log(GDP), log(PM3LC(-1)/PGDP(-1)), log(KORPX3(-1)/KORPC3(-1)) ]
(1.6) log(M3USA) =f[ log(GDP), PM3LC(-1)/PGDP(-1), USAPX3(-1)/USAPC3(-1) ]
(1.6) log(M3USA) =f[ 1og(GDP), log(PM3LC(-1)/PGDP(-1)), USAPX3(-1)/USAPC3(-1) ]

(Z7HEDHY)
(0.7) log(M3CHN) =f[ log(GDP), ACPM3LC(-1)/PGDP(-1)), Alog(CHNPX3/CHNPC3),
log(MM3CHN(-1)) |
(0.7) logMM3CHN) =f[ log(GDP), Alog(PM3LC(-1)/PGDP(-1)), A(CHNPX3/CHNPC3),
log(M3CHN(-1)) ]
(0.7) logMM3CHN) =f[ log(GDP), Alog(PM3LC(-1)/PGDP(-1)), Alog(CHNPX3/CHNPC3),
log(MM3CHN(-1)) |
(1.8) log(M3KOR) =f[ log(GDP), log(PM3LC/PGDP), log(KORPX3(-1)/KORPC3(-1)),
log(M3KOR(-1)) |
(0.6) M3USA =f[ GDP, log(PM3LC/PGDP), USAPX3(-1)/USAPC3(-1), M3USA(-1) ]
(0.6) M3USA =f[ GDP, log(PM3LC/PGDP), log(USAPX3(-1)/USAPC3(-1)), M3USA(-1) ]

(fft# 5 — 5) AR (M) TKRE)

[F4 1 - foschim Affi#s ]

(77 L)
(1.5) M1CHN =f[ GDP, A(PM1LC), log(CHNPX1(-1)/CHNPC1(-1)) ]
(1.5) M1CHN =f[ GDP, Alog(PM1LC), log(CHNPX1(-1)/CHNPC1(-1)) ]
(1.9) Alog@M1JPN) =f[ Alog(GDP), Alog(PM1LC), Alog(JPNPX1(-1)/JPNPC1(-1)) ]
(0.4) Alog(M1KOR) =f[ Alog(GDP), APM1LC), AKORPX1(-1)/KORPC1(-1)) ]
(0.4) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC), Alog(KORPX1(-1)/KORPC1(-1)) ]
(0.4) Alog(M1KOR) =f[ Alog(GDP), Alog(PM1LC), A(KORPX1(-1)/KORPC1(-1)) ]
(0.4) Alog(MM1KOR) =f[ Alog(GDP), Alog(PM1LC), Alog(KORPX1(-1)/KORPC1(-1)) ]
(1.2) M1TWN =f[ GDP, PM1LC, Alog(TWNPX1(-1)/TWNPC1(-1)) ]
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(Z7HEbY)

(0.7 M1CHN =f[ GDP, A(PM1LC), CHNPX1/CHNPC1, M1CHN(-1) ]

(0.7) M1CHN =f[ GDP, A(PM1LC), log(CHNPX1/CHNPC1), M1CHN(-1) ]

(0.7) M1CHN =f[ GDP, A(CPM1LC), A(CHNPX1/CHNPC1), M1CHN(-1) ]

(0.7) M1CHN =f[ GDP, Alog(PM1LC), CHNPX1/CHNPC1, M1CHN(-1) ]

(0.7) M1CHN =f[ GDP, Alog(PM1LC), log(CHNPX1/CHNPC1), M1CHN(-1) ]

(1.5) AAM1JPN) =f[ A(GDP), A(PM1LC), Alog(JPNPX1(-1)/JPNPC1(-1)), AM1JPN(-1)) ]

(1.5) AMM1JPN) =f[ A(GDP), Alog(PM1LC), Alog(JPNPX1(-1)/JPNPC1(-1)), AMM1JPN(-1)) ]

(0.85) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC), Alog(KORPX1(-1)/KORPC1(-1)),
Alog(M1KOR(-1)) ]

(0.84) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC), log(KORPX1(-1)/KORPC1(-1)),
Alog(MM1KOR(-1)) ]

(0.83) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC), KORPX1(-1)/KORPC1(-1), AlogMM1KOR(-1)) ]

(0.83) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC), AAKORPX1(-1)/KORPC1(-1)), AlogMM1KOR(-1)) ]

(0.7 M1TWN =f[ GDP, A(CPM1LC), ATWNPX1(-1)/TWNPC1(-1)), MITWN(-1) ]

(0.7 M1TWN =f[ GDP, Alog(PM1LC), A(TWNPX1(-1)/TWNPC1(-1)), MITWN(-1) ]

(4 1 - AEsH A4S ]

(7 7R L)
(1.6) M1CHN =f[ GDP, APM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)) ]
(1.6) M1CHN =f[ GDP, Alog(PM1LC/PGDP), CHNPX1(-1)/CHNPC1(-1) ]
(1.6) M1CHN =f[ GDP, Alog(PM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)) ]
(1.8) Alog(M1JPN) =f[ Alog(GDP), Alog(PM1LC/PGDP), Alog(JPNPX1(-1)/JPNPC1(-1)) ]
(0.6) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC/PGDP), KORPX1/KORPC1 ]
(0.6) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC/PGDP), ACGKORPX1(-1)/KORPC1(-1)) ]
(0.6) Alog(M1KOR) =f[ Alog(GDP), A(PM1LC/PGDP), Alog(KORPX1(-1)/KORPC1(-1)) ]
(1.3) 1ogMM1TWN) =f[ log(GDP), A(PM1LC/PGDP), Alog(TWNPX1/TWNPC1) ]

(Z7HHY)

(0.85) M1CHN =f[ GDP, Alog(PM1LC/PGDP), A(CCHNPX1/CHNPC1), M1CHN(-1) ]

(0.85) M1CHN =f[ GDP, Alog(PM1LC/PGDP), Alog(CHNPX1/CHNPC1), M1CHN(-1) ]

(0.85) log(M1CHN) =f[ log(GDP), A(PM1LC/PGDP), log(CHNPX1(-1)/CHNPC1(-1)),
log(M1CHN(-1)) ]

(1.5) AMM1JPN) =f[ A(GDP), Alog(PM1LC/PGDP), Alog(JPNPX1(-1)/JPNPC1(-1)),
AM1JPN(-1)) ]

(1.1) Alog(M1KOR) =f[ Alog(GDP), ACPM1LC/PGDP), A(KORPX1(-1)/KORPC1(-1)),
Alog(M1KOR(-1)) |

(1.1) Alog@MM1KOR) =f[ Alog(GDP), APM1LC/PGDP), Alog(KORPX1(-1)/KORPC1(-1)),
Alog(M1KOR(-1)) ]

(0.7 M1TWN =f[ GDP, Alog(PM1LC/PGDP), ACTWNPX1(-1)/TWNPC1(-1)), MITWN(-1) ]

(0.7) 1ogMM1TWN) =f[ log(GDP), A(PM1LC/PGDP), ATWNPX1(-1)/TWNPC1(-1)),
log(M1TWN(-1)) ]

(0.7) 1ogMM1TWN) =f[ log(GDP), Alog(PM1LC/PGDP), ACTWNPX1(-1)/TWNPC1(-1)),
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logM1TWN(-1)) |

(5 3 - Haschfi A s ]

(Z 7R L)
(1.98) Alog(M3CHN) =f[ Alog(GDP), PM3LC, CHNPX3(-1)/CHNPC3(-1) ]
(1.97) Alog(M3CHN) =f[ Alog(GDP), log(PM3LC), CHNPX3(-1)/CHNPC3(-1) |
(1.96) Alog(M3CHN) =f[ Alog(GDP), PM3LC, log(CHNPX3(-1)/CHNPC3(-1)) ]
(1.94) Alog(M3CHN) =f[ Alog(GDP), log(PM3LC), log(CHNPX3(-1)/CHNPC3(-1)) |
(1.92) M3CHN =f[ GDP, Alog(PM3LC), log(CHNPX3/CHNPC3) ]
(0.75) M3JPN =f[ GDP, PM3LC(-1), Alog(PX3JPN/PC3JPN) |
(0.75) Alog(M3JPN) =f[ Alog(GDP), PM3LC, A(PX3JPN(-1)/PC3JPN(-1)) ]
(0.75) Alog(M3JPN) =f[ Alog(GDP), PM3LC, Alog(PX3JPN(-1)/PC3JPN(-1)) ]
(0.5) Alog(M3KOR) =f[ Alog(GDP), A(CPM3LC), AAKKORPX3(-1)/KORPC3(-1)) ]
(0.5) Alog(M3KOR) =f[ Alog(GDP), A(CPM3LC), Alog(KORPX3(-1)/KORPC3(-1)) ]
(0.5) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC), A(KKORPX3(-1)/KORPC3(-1)) |
(0.5) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC), Alog(KORPX3(-1)/KORPC3(-1)) ]
(8.7) AlogMM3TWN) =f[ Alog(GDP), Alog(PM3LC), log(TWNPX3/TWNPC3) |

(Z7HEHBHY )

(2.7) logMM3CHN) =f[ log(GDP), PM3LC, CHNPX3(-1)/CHNPC3(-1), log(M3CHN(-1)) ]

(2.7) 1og(M3CHN) =f[ log(GDP), PM3LC, log(CHNPX3(-1)/CHNPC3(-1)), log(M3CHN(-1)) ]

(2.7) logMM3CHN) =f[ 1og(GDP), log(PM3LC), CHNPX3(-1)/CHNPC3(-1), logM3CHN(-1)) ]

(2.7) 1og(M3CHN) =f[ log(GDP), log(PM3LC), log(CHNPX3(-1)/CHNPC3(-1)), log(M3CHN(-1)) ]

(0.7) Alog(M3JPN) =f[ Alog(GDP), A(PM3LC), AWJPNPX3(-1)/JPNPC3(-1)), Alog(MM3JPN(-1)) |

(0.67) Alog(M3KOR) =f[ Alog(GDP), A(PM3LC), Alog(PX3KOR(-1)/PC3KOR(-1)),
Alog(M3KOR(-1)) ]

(0.66) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC), Alog(PX3KOR(-1)/PC3KOR(-1)),
Alog(M3KOR(-1)) ]

(0.65) Alog(M3KOR) =f[ Alog(GDP), A(PM3LC), A(PX3KOR(-1)/PC3KOR(-1)), AlogMM3KOR(-1)) ]

(0.64) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC), A(PX3KOR(-1)/PC3KOR(-1)),
Alog(M3KOR(-1)) |

(2.5) M3TWN =f[ GDP, PM3LC, TWNPX3(-1)/TWNPC3(-1), M3STWN(-1) ]

(2.5) M3TWN =f[ GDP, log(PM3LC), TWNPX3(-1)/TWNPC3(-1), M3TWN(-1) ]

(2.5) M3TWN =f[ GDP, A(PM3LC), TWNPX3(-1)/TWNPC3(-1), M3TWN(-1) ]

(2.5) M3TWN =f[ GDP, Alog(PM3LC), TWNPX3(-1)/TWNPC3(-1), M3TWN(-1) ]
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(5 3 - FH i A4S ]

(77 L)
(1.9) M3CHN =f[ GDP, Alog(PM3LC/PGDP), CHNPX3/CHNPC3 |
(1.9) M3CHN =f[ GDP, Alog(PM3LC/PGDP), log(CHNPX3/CHNPC3) |
(1.2) 1og(M3JPN) =f[ log(GDP), PM3LC(-1)/PGDP(-1), AUPNPX3/JPNPC3) |
(1.2) 1og(M3JPN) =f[ log(GDP), PM3LC(-1)/PGDP(-1), Alog(JPNPX3/JPNPC3) ]
(0.6) Alog(M3KOR) =f[ Alog(GDP), A(CPM3LC/PGDP), AGKORPX3(-1)/KORPC3(-1)) ]
(0.6) Alog(M3KOR) =f[ Alog(GDP), A(CPM3LC/PGDP), Alog(KORPX3(-1)/KORPC3(-1)) |
(0.6) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC/PGDP), AGKORPX3(-1)/KORPC3(-1)) ]
(0.6) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC/PGDP), Alog(KORPX3(-1)/KORPC3(-1)) ]
(6.0) M3TWN =f[ GDP, log(PM3LC/PGDP), TWNPX3(-1)/TWNPC3(-1) ]

(Z7HEH )

(2.6) log(M3CHN) =f[ 1og(GDP), PM3LC/PGDP, CHNPX3(-1)/CHNPC3(-1), 1og(MM3CHN(-1)) ]

(2.6) log(M3CHN) =f[ 1og(GDP), PM3LC/PGDP, log(CHNPX3(-1)/CHNPC3(-1)),
log(M3CHN(-1)) ]

(0.5) Alog(M3JPN) =f[ Alog(GDP), Alog(PM3LC/PGDP), AUPNPX3(-1)/JPNPC3(-1)),
Alog(M3JPN(-1)) |

(0.5) Alog(M3JPN) =f[ Alog(GDP), Alog(PM3LC/PGDP), Alog(JPNPX3(-1)/JPNPC3(-1)),
Alog(M3JPN(-1)) |

(0.7) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC/PGDP), A(KKORPX3(-1)/KORPC3(-1)),
Alog(MM3KOR(-1)) |

(0.7) Alog(M3KOR) =f[ Alog(GDP), Alog(PM3LC/PGDP), Alog(KORPX3(-1)/KORPC3(-1)),
Alog(M3KOR(-1)) ]

(3.9) M3TWN =f[ GDP, log(PM3LC/PGDP), log(TWNPX3(-1)/TWNPC3(-1)), MSTWN(-1) ]

288



(U= VU—F)

(£ 5 —A1) PE (tEOFIHIE=4.0)

FEEHmERE
HEE el | o0, |zomy |wen| 00, |zomy
RAE X KtE
184 5384

hE 00 - - - - - -

01 - - - - - -

10 - - - - - -

11 - - - - - -
BA 00 64 1.7 1 24 1.0 2
01 112 1.8 4 22 1.1 4
10 46 1.2 1 10 0.6 2
11 52 1.0 3 4 05 2
#EE 00 66 1.7 2 51 1.7 1
01 90 15 1 33 0.3 5
10 62 2.2 2 27 15 3
11 61 1.6 1 24 15 1
=0 00 66 3.0 3 74 15 2
01 44 1.1 3 77 1.1 2
10 16 0.7 2 15 0.6 2
11 16 0.3 6 19 0.9 5
KE 00 79 2.0 2 45 1.0 4
01 122 2.4 4 67 1.2 2
10 58 1.1 4 13 0.3 1
11 36 05 2 22 0.6 1
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(£ 5 —A2) AA (tfEOFIHIE=4.0)

(U= VU—F)

FEEHHRE
BEE el | o0, |zoms | wen| 200, |zoEY
=AE =AE
SE18f EX])
FE 00 34 05 4 56 1.8 5
01 39 038 2 74 2.0 2
10 11 0.3 4 83 2.5 2
11 22 0.7 2 90 1.9 4
=F:N 00 - - - - - -
01 - - - - - -
10 - - - - - -
11 - - - - - -
BEE 00 29 2.4 1 59 1.4 4
01 35 2.1 1 64 1.4
10 51 1.7 2 66 1.4 1
11 38 1.8 1 93 1.2 1
=) 00 54 1.7 1 15 3.2 1
01 58 2.1 1 33 3.7 1
10 55 1.1 1 17 15 1
11 48 1.3 1 36 18 1
KE 00 40 1.0 2 89 1.6 1
01 62 1.9 1 77 1.2 4
10 58 1.0 2 110 1.4 2
11 44 0.9 2 101 1.2 2
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(M5 —A3) #E (tEOFIHIE=4.0)

(U= VU—F)

FEEHHRE
BEE el | o0, |zoms | wen| 200, |zoEY
=AE =AE
SE18f 5384

FE 00 154 2.0 5 106 15 4
01 171 2.4 1 83 1.6 2
10 104 15 5 110 1.3 4
11 94 1.7 1 90 1.9 4

=N 00 92 1.7 1 54 1.1 1
01 55 1.8 3 86 1.2 2
10 20 15 2 10 0.3 2

11 43 1.6 3 20 0.6 1

BE 00 - - - - - -
01 - - - - - -

10 - - - - - -

11 - - - - - -
=) 00 29 2.0 1 42 1.6 2
01 26 1.1 1 63 1.7 1

10 25 25 1 27 1.4 1
11 29 1.9 1 29 1.0 4

KE 00 76 1.7 2 40 2.8 1
01 91 25 1 38 3.0 1
10 69 1.1 6 62 1.2 2

11 86 1.3 2 47 0.9 1
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(%5 —A4) BE (tHOYIHIfE=4.0)

(U= VU—F)

FEEHER
BEE el | o0, |zoms | wen| 200, |zoEY
=AE =AE
184 5381
FE 00 96 0.9 5 15 10 2
01 96 0.9 6 16 0.9 2
10 76 038 2 28 0.7 3
11 80 0.7 4 36 0.6 5
=N 00 62 15 2 44 1.4 3
01 62 15 2 38 15 2
10 125 1.8 1
11 114 1.9 2
BE 00 97 0.9 7 122 1.8 2
01 94 0.9 2 129 2.0 1
10 123 1.2 2 64 18 1
11 122 1.3 2 67 18 1
BiE 00 - - - - - -
01 - - - - - -
10 - - - - - -
11 - - - - - -
KE 00 12 0.4 1 89 1.6 2
01 5 0.4 2 97 15 1
10 14 0.6 2
11 13 0.6 1
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(b2 5 —A5) KE (t HOYIHIfE=6.0)

(U= VU—F)

FEEHHRE
BEE el | o0, |zoms | wen| 200, |zoEY
=AE =AE
SE18f EX])

FE 00 52 1.6 3 74 1.9 2
01 40 15 2 68 1.9 6
10 33 08 10 78 2.6 2
11 27 0.7 5 85 2.7 4
=N 00 74 1.8 1 18 1.2 2
01 60 1.9 1 20 0.7 6
10 44 15 1 4 05 2

11 35 15 2 0.7 1
BEE 00 36 0.6 3 28 0.6 4
01 16 0.4 4 12 05 4
10 22 1.1 2 38 0.7 2
11 21 08 6 24 0.6 7

=) 00 32 1.3 1 131 6.0 1
01 42 1.2 1 139 3.7 1

10 15 0.7 3 62 3.9 1
11 18 0.7 2 55 2.5 4

*E 00 - - - - - -
01 - - - - - -

10 - - - - - -

11 - - - - - -
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